Chiffres Romains (B)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMDLII = 2552 MDCCXXII =
MMMDCCCLXI = MMDCVLII =
MMCDXV = MMMCCCL =
MMI = MMMDCCIII =
MCMXV = MMMVCII =

MMMCDVII = 3407 = 2565

= 1991 = 3698

= 2256 = 1708

= 2306 = 1889

= 1442 = 3908
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Chiffres Romains (B) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMDLII

MMMDCCCLXI

MMCDXV

MMI

MCMXV

MMMCDVII

MXMI

MMCCLVI

MMCCCVI

MCDXLII

2552

3861

2415

2001

1915

3407

1991

2256

2306

1442

MDCCXXIII

MMDCVLIII

MMMCCCL

MMMDCCIII

MMMVCII

MMDLXV

MMMDCVCIII

MDCCVIII

MDCCCLXXXIX

MMMCMVIII

1723

2648

3350

3703

3097

2565

3698

1708

1889

3908
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